
 
 
 

 
Вариант 1 
1. Округлите: 
А) 3,18; 30,625; 257,51 и 0,28 до единиц; 
Б) 0,531; 12,467; 8,5452 и 0,009 до сотых. 
 

 
Вариант 2 
1. Округлите: 
А) 8,72; 40,198; 164,53 и 0,61 до единиц; 
Б) 0,834; 19,471; 6,352 и 0,08 до десятых. 
 

 
Вариант 3 
1. Округлите: 
А) 9,63; 32,274; 193,52 и 0,73 до единиц; 
Б) 0,935; 23,484; 7,253 и 0,09 до десятых. 
 

 
Вариант 4 
1. Округлите: 
А) 8,27; 53,293; 169,85 и 0,94 до единиц; 
Б) 0,854; 25,394; 7,024 и 0,07 до десятых. 
 

 
Вариант 5 
1. Округлите: 
А) 3,75; 17,254; 174,53 и 0,75 до единиц; 
Б) 0,943; 17,546; 6,031 и 0, 084 до десятых. 
 

 
Вариант 6 
1. Округлите: 
А) 4,85; 16,547; 184,25 и 0,93 до единиц; 
Б) 0,844; 17,354; 7,024 и 0,095 до десятых. 
 
 

 
Вариант 7 
1. Округлите: 
А) 3,75; 14,345; 16,539; 0,85 до единиц; 
Б) 0,933; 16,457; 8,035 и 0,084 до сотых. 
 

 
Вариант 8 
1. Округлите: 
А) 2,53; 6,254; 17,954 и 0,99 до единиц; 
Б) 0,854; 7,395; 7,037 и 0,096 до десятых. 
 
 
 

 
Вариант 9 
1. Округлите: 
А) 9,37; 8,536; 16,935 и 0,087 до единиц; 
Б) 0,9364; 6,7357; 5,2732 и 0,0841 до сотых. 
 

 
Вариант 10 
1. Округлите: 
А) 8,63; 7,236; 8,534 и 0,086 до единиц; 
Б) 0,856; 7,25; 0,832 и 3,0928 до десятых. 
 
 
 

 
Вариант 11 
1. Округлите: 
А) 9,54; 8,244; 3,563; 0,092 до единиц; 
Б) 3,567; 4,9356; 6,984 и 0,65411 до сотых. 
 

 
Вариант 12 
1. Округлите: 
А) 7,53; 9,376; 0,092; 16,29688 до единиц; 
Б) 3,856; 14,5234; 0,396 и 2,506 до десятых. 
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Ответы. 

Задание 1(а) 1(б) 

Вариант 

1 3 
31 

258 
0 

0,53 
12,47 
8,55 
0,01 

2 9 
40 

165 
1 

0,8 
19,5 
6,4 
0,1 

3 10 
32 

194 
1 

0,9 
23,5 
7,3 
0,1 

4 8 
53 

170 
1 

0,9 
25,4 
7,0 
0,1 

5 4 
17 

175 
1 

0,9 
17,5 
6,0 
0,1 

6 5 
17 

184 
1 

0,8 
17,4 
7,0 
0,1 

7 4 
14 
17 
1 

0,93 
16,46 
8,04 
0,08 

8 3 
6 

18 
1 

0,9 
7,4 
7,0 
0,1 

9 9 
9 

17 
0 

0,94 
6,74 
5,27 
0,08 

10 9 
7 
9 
0 

0,9 
7,3 
0,8 
3,1 

11 10 
8 
4 
0 

3,57 
4,94 
6,98 
0,65 

12 8 
9 
0 

16 

3,9 
14,5 
0,4 
2,5 
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